
https://www.leads4pass.com/hpe6-a47.html
2024 Latest leads4pass HPE6-A47 PDF and VCE dumps Download

 

 

 

HPE6-A47Q&As

Designing Aruba Solutions

Pass HP HPE6-A47 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.leads4pass.com/hpe6-a47.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by HP Official
Exam Center

 

 

HPE6-A47 VCE Dumps | HPE6-A47 Practice Test | HPE6-A47 Study Guide                                1 / 3

https://www.leads4pass.com/hpe6-a47.html
https://www.leads4pass.com/hpe6-a47.html
https://www.leads4pass.com/hpe6-a47.html


https://www.leads4pass.com/hpe6-a47.html
2024 Latest leads4pass HPE6-A47 PDF and VCE dumps Download

QUESTION 1

What is a key criteria that an architect should use to choose between an Aruba 7000 Series or 7200 Series Mobility
Controller (MC)? 

A. the number of wireless devices that the MC needs to support 

B. whether the MC needs to terminate VPN tunnels 

C. the need to deploy controllers in a cluster 

D. whether the MC needs to support advanced 8.x features 

Correct Answer: A 

 

QUESTION 2

An architect needs to plan the bandwidth for two Aruba 7240 Mobility Controllers (MCs) which will connect to the
network core. The customer indicates that four 10 GbE links between the network core and the data center will be
adequate. The customer expects almost all traffic in the network will be wireless. The customer expects up to 25 Gbps
upstream traffic from wireless clients and up to 35 Gbps downstream to wireless clients. The customer requires the MCs
to be able to continue to forward traffic if up to one link fails, but lower performance during the failover situation is
permissible. 

What are the minimal links to meet these requirements? 

A. two 10 GbE links on each of the MC 

B. two 40 GbE links in each of the MCs 

C. three 10 GbE links on each of the MCs 

D. four 10 GbE links on each of the MCs. 

Correct Answer: B 

 

QUESTION 3

A customer requires a wireless upgrade. The architect proposes: Aruba AP-325s Mobility Controller (MC) 7210s Virtual
Mobility Masters (MMs) ClearPass AirWave 

The customer is interested in wired authentication, as well as wireless authentication, but does not have the budget to
upgrade the wired network. The wired network does not currently support 802.1X or RADIUS. 

Which feature of the Aruba solution should the architect explain to justify the proposed solution? 

A. The customer can direct all wired traffic through the MCs, which will then apply security to that traffic. 

B. The customer can direct all wired traffic through the MMs, which will impose basic security checks. 

C. ClearPass OnConnect can enable wired authentication on these switches through the use of SNMP. 
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D. AirWave can manage these switches and shut down their ports if an unknown user or device connects. 

Correct Answer: C 

 

QUESTION 4

An architect plans to deploy a Mobility Controller (MC) at one building in subnet 10.23.01.0/24 and another MC in
another building in subnet 10.44.12.0/24. The MCs need to provide redundancy for each other. 

What must the architect take into account in the redundancy plan? 

A. The MCs cannot provide any level of redundancy for each other unless one is moved into the other\\'s subnet. 

B. The MCs cannot be in a cluster, and they must use Virtual Router Redundancy Protocol (VRRP) to provide
redundancy for each other. 

C. The MCs can be in a cluster, but the cluster will not support features such as stateful failover. 

D. Each MC can be the backup LMS for the other MCs\\' APs, but it cannot be in a cluster with the other MC. 

Correct Answer: B 

 

QUESTION 5

An architect needs to plan a wireless deployment. The architect conducts a physical walkthrough, but still needs more
information. 

Which significant RF obstacle can be difficult to see visually and might require access to blueprints? 

A. fiberglass 

B. metal firewall 

C. ceiling tiles 

D. drywall 

Correct Answer: A 
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